Fabrication of ZnO/TiO. Nanoheterostructure and
Its Application to Photoelectrochemical Cell
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Because both TiO, and ZnO has superior characteristic optically and electrically, there are various of
research for these materials. However, they have large band gap energy which correspond with not visible
light, but UV light. To make up for this disadvantage, Quantum dots (CdS, CdSe) which can absorb the
visible light could be deposited on ZnO/TiO, nanostructure so that the the photoelectrochecmical cell can
absorb the light that has larger region of wavelength. Both TiO, and ZnO can be grown to one-dimensional
nanowire structure at low temperature through solutional method. Three-dimensional hierarcical ZnO/TiO,
nanostructure is fabricated by applying these process. Large surface area of this structure make the light
absorbed more efficiently. Through type 2 like-cascade energy band structure of nanostructure, the efficient
separation of electron-hole pairs is expected. Photoelectrochemical charateristics are found by using these
nanostructure to photoelectrode.
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